WAY COOL ALGEBRA

Inequdlities Compoarisons

Assigntents are graded on Neafness and Completeness:
~Copy Original Problem

~Show your work in Vertical Format

~ldentify your Answer. Circle it or highlight it.

~Put a space between problems.

Evaluate each expression and determine the Boolean result: TRUE or FALSE,

1) 2)
—19+19 > -12—-19 —12-10< —-18+7
3) )
|-5—8| > |2 — 11] |-7 + 4| < |-12 + 13|
5) 6)
—204+9>12—-1+2 —14+16-20<|-8—-7| -3
7) 8)
|-15| — |8 — 10| > |-11| — 18 (3)(—=6) = |12 — 30|
9) 10)
—11—-(-4) > -6 —(-10) — 13 —9-6—(—4)<-12-(-8)
1) 12)
—(—4)?2=-4+4 6(—4)+3>-8-2x6
13) 14)
5(-=12) + 2(=6) < (=2) * (—9) (—=10)(=3) — 7 * 12 < (10)(—8)




